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SECOND MID: TERM TEST -'77 2023

10 -Std - MATHS ST 0
. Time: 1.30 Hrs e T Marks. 50“
[ Note' |) Answer allthe questlons gt i 7x1-_7
IfAisa2x3 matrlx and Bisa3x4 matrlx, how | many columns does AB have o, & Lheo
AY 3 L )4 b c) 2 g d) RS,

2t Transpose of a cqumn matrix is.

_.*’a) unitmatrix - - - b)diagonal matrix c) column matrlx d)‘rowmat'rix‘fr__"

: 3) ~ The non- dlagonal elementsm any unit matrix are v T gt TRy
i 9). ;?’» In the glven flgure PR = 26 cm, ) 0
7. QR =24 ¢m, ZPAQ = 900, PA =6 cm | Rod 2
< _.rand QA 8 cm.. Fmd ZPQR. . N - T R
T Ay 8OO T by EEe .. iy 750 4 d) 900

2 5 The angle of Elevation of cloud from a point, h metres above a. Iake is [3 The oy
-_angle of depression of its reflectlon in the lake is 45" The height of locatlon of

the cIoud from the Iake is.

; h(1+tanp h(1-tanp) s & v' < o" : | :
J _a) (1-tanB) by £+tan[3 Q) htan(4~5 'B)' S d) None of these

6 ‘ The curved surface area of a rlght C|rcular cone of helght 15 om and base
, dlameter 16 cm is a) 607r cm?2 b) 687r cm2 c) 120z cm?2 d) 1367: cm2 '
s The total surface area of cychnder whose rad|us is S3 of |ts helght is

h® Sen?

‘9'”h2 87zh _ n o
5 - sq. units. d) Y — Sq. units. ",

> g

sq.units b) 247zh2 sq. umts c)

. Part-II , N ¢ vl
No'te:, Answer_anySquestions Questlon No. 14 is compulsory , - 5x2=10 .-

s ~(a=b " 2a+¢). (1.5
8) Flnd the value of a, b, c, d fr
) ‘ rom the equatlon (Za b 3c+d) (O 2}

7 Ng| | g I
9) IfA— -f 2 '.then find the"transpose of =A, -

3. -5

10) Fmd the length of the tangent dracon from a point whose dlstance from the: centre of
' acircle is 5 ¢cm and radius of the circle Is 3 cm.

11) State Ceva's theorem. g 10 855°°ﬂ.5‘9 ,E_M page.;,_ 1».

t »
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B e figure, ARBC is 'circunﬁscribi“né Earelyen fn Sat o i B
a circle: Find the length of BC. =~ - i i

13) From the top of a rock 5043 m.high, the angle of depressian of a car.on.thgariygf 1sh -3
- observed to be 300, Find the distance of the car from the rock. - . NRE
(0749 7B ST e

3 R S P - L i lue of 3A-9B.

B L R R TR NS s o g A L
L _Answerany 5 of the following questions: Q.No.21 Compulsory. 5x5 =25

-

.15, If A= ‘[~1 5 ].and A2 - SA+7I=0.: = C:::Nr, Og,
3 ‘ S ’ i o ca ‘ o g, 0 . el - “S() ¥ M.p -
: e P : . i. LL“"I)N Dl”’\'f)’f ','IJ',_(,(,
. - 5 | : 2 = S : L 2 I\[(,S.HSUL,"HQULL,
16. If A=[2- : 1}.a_nd~13= -1 4| show that (AB). | -”':900;33{'{/“,- <k

‘ . 102 2k S
17.. State and prove Baudhayana theorem. = L = 3 b e N
18. Two ships are sailing in the sea on either sides of a lighthouse. The angle of

+elevation of the top of the lighthouse as observed from the ships are 30° and 45°
respectively.- If the lighthouse is 200m high, find the distance between the two ships

19." The angle of elevation of the top of a cell phone tower from the foot of a high
apartment is 60° and the angle of depression of the foot of the tower from

4

. 20. An Industrial metallic bucket is in

is ccc4m. Find the curved and total surface area of the bucket,
21, From the top of a lighthouse, the angle of depression of
two ships on the opposite sides of it are. observed to be 300
and 600°. If the height of the lighthouse is h meters and the
line joining the ships passes through the foot of the lighthouse,
show that the distance between the ships is k) m. '
V3
Part-1Iv
Note : Answer the following question. ‘ :
22) a) Discuss the nature of solutions of the quadratic equation x2+x-12 = 0, (OR)
b) Take a point which Is 11 ¢m away Lrom the centre of a circle of radius
4 cm and draw the two tangents to the circle fro ' ™
¢ L p?wtamﬂgm EMPage-2
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